
𝑑 = 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 (𝑠∗)

𝑑 = 𝐷𝑖𝑠𝑝𝑙𝑎𝑐𝑒𝑚𝑒𝑚𝑡 (𝑣∗)

You walk East straight to school at 1 km/h for 2km. You're at school for 2 hrs. You turn around 
and run 2km/h 2km past home then back home.
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𝐷𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑣𝑠 𝑇𝑖𝑚𝑒

                 Velocity : Slope
Constant Velocity : Straight Line
        Zero Velocity : Horizontal Line
  Positive Velocity : Slope Up
Negative Velocity : Slope Down
         Speeding Up : Getting Steeper
      Slowing Down : Getting Flatter
     Curve Velocity : Draw a Tangent!

𝐷𝑖𝑠𝑝𝑙𝑎𝑐𝑒𝑚𝑒𝑛𝑡 𝑣𝑠 𝑇𝑖𝑚𝑒
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Logic!

𝑆𝑙𝑜𝑝𝑒 =
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